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LOosungen

m =Solve[(z-2+1)"4 =24+, {z}] //Flatten// N

{z - 0.785361-1.14143 1, z » 2. 14143 - 2. 21464 1,
z -»1.85857 +0.2146391, z » 3. 21464 - 0. 858575 1}

fIxX_1:=%x[[2]]; (= Test =*)f[Rulef[c, b]]

b

ne = Map[f, ml]

{0. 785361 -1.14143 1, 2.14143 - 2. 21464 i1, 1.85857 +0.214639 1, 3.21464 - 0. 8585751}
3 = Map [Abs, n2]

{1. 38551, 3.08064, 1.87093, 3.32732}

3Er"(2z) /. z->1 Pi

3

(3Er(22z) /. z->1 Pi +1) // Sinplify
3 e?

(Cos[z] +Sin[z] /. z->1Pi ) //N
11.592 + 11. 5487 1

(Cos[z] -Sin[z]/.z-»>-1Pi)//N

11.592 +11.5487 1

z=4+21

4+21

w=1/z

o
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Show[ G aphi cs[{Poi nt Si ze[0. 03], Point [{Re[z], Im[z]}], Point [{Re[w], | m[w]}],
Poi nt [{0, 0}], Gircle[{O, O}, 1], Line[{{-1.2, 0}, {4, 0}}1,
Line[{{0, -1.2}, {0, 2}}], Line[{{O, O}, {Re[z], IM[Zz]}}],
Line[{{0, 0}, 10 {Re[w], Im[w]}}1}], AspectRatio- Automatic];

4+21) (2-41)/7¢4-31)

4

(4+21) (2-41)/(3+41)

41
4
Rermove [z, w]
21=1;22=-1;28=2-1;24=2+1; 25=-2+1; 26 = -2-1;
(z-21) (z-22) (z-23) (z-24) (z-125) (z-26) // Expand
-25+3122-72%+2°
((z-21) (z-22) (z-23) (z-24) (z-25) (z-26) //Expand) /. z>w" (1/2)
—25+31w-7W +W
Sol ve[%= 0, {W}]
{{w->1}, (w->3-41i}, {(w->3+41}}
5

a=(z"12-1)/((2z-2) // Apart
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